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@ @% Ej Multiplicera med tio befogenheter (antal saknas)
namn: Datum: Poiing:
3,472 x = 3472 8, 694 x = 869.4
10, 962 =109.62 2,243 x = 2243
2,852 x = 2852 3,474 x =34.74
2,093 x =209.3 8,316 x = 831.6
10, 836 X =1083.6 8, 539 x = 8539
1, 856 x =185.6 9,897 x = 9897
1, 655 X =16.55 6, 589 x = 65.89
10, 834 x = 10834 4,426 x = 442.6
10, 317 X =1031.7 9,076 x = 9076
2,416 x =241.6 2,733 x = 2733
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Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:

3,472 x 1000 = 3472 8,694 x 100 = 869.4
10,962 x 10 = 109.62 2,243 x 1000 = 2243
2,852 x 1000 = 2852 3,474 x 10 =34.74

2,093 x 100 =209.3 8,316 x 100 = 831.6
10, 836 x 100 = 1083.6 8,539 x 1000 = 8539
1,856 x 100 = 185.6 9,897 x 1000 = 9897
1,655 x 10 =16.55 6,589 x 10 = 65.89

10, 834 x 1000 = 10834 4,426 x 100 = 442.6
10,317 x 100 = 1031.7 9,076 x 1000 = 9076
2,416 x 100 = 241.6 2,733 x 1000 = 2733
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